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Exercise 1: Multiple Choice (only one answer is correct)
	1. 
	Pair the following statement with one of Garvin’s approaches on quality below: “Quality is precise and measurable variable, which represent the attributes of products, and on the base of it, products can be ranked.”
a) Transcendent approach

b) Product-Based approach

c) Manufacturing approach

d) Value based approach

	2. 
	What is efficacy?

a.) doing things in the most economical way (input / output). 

b.) getting things done, meeting targets 

c.) doing right things, setting right targets to achieve the effect.  

d.) to earn profit through producing goods and services to satisfy customers’ demand.

	3. 
	Which one is not contained in the 10 dimensions of services?
a) competence

b) courtesy

c) communication

d) serviceability

	4. 
	Pair the following statement with one of HIPI items below: The demand of service can fluctuate, while the supply of service is adjusted to the average level of demand, this can cause quality shortages.

a) Heterogeneity

b) Intangibility

c) Perishability

d) Inseparability 

	5. 
	The corporate strategy:
a) A combination of the measurable ends (goals) for which the firm is striving and the means (policies) by which it is seeking to get there.  
b) It outlines what the organization wants to be, or how it wants the world – in which it operates – to be. It concentrates on the future. 
c) It defines the fundamental purpose of an organization or an enterprise, succinctly describing why it exists and what it does to achieve its Vision. 
d) It drives an organization's culture and priorities. 

	6. 
	What is NOT true for core competence?
a) It is not easy for competitors to imitate 

b) It is a specific factor (ability, competency) that is central for a firm.

c) It can be leveraged widely to many products and markets. 

d) It exists only on the short run.

	7. 
	One of the followings does not belong to the 4 dimensions of consumer value:
a) Value of use: linked to the ability of satisfying needs

b) Value of space: the measure of space it needs to be hold
c) Value of time: provided when needed

d) Ownership value: right of disposal

	8. 
	Who was the inventor of the Value Chain Concept?
a.) Porter

b.) Kotler

c.) Becker

d.) Phelps


	9. 
	One of the followings are not belongs to the main assumptions of the linear programming model
a.) noninteger values are acceptable
b.) negative values of decision variables are accepted
c.) the impact of decision variables is linear in constraints and the objective functions

d.) values of parameters are known and constant

	10. 
	What parts of the SWOT analysis have internal origin?

a.) Strength and weaknesses

b.) Threats and opportunities
c.) Strength and opportunities
d.) Weaknesses and threats           

	11. 
	A …….. is something that limits the performance of a process or system in achieving its goals.

	
	a.) burden
	b.) linear programming problem
	c.) constraint
	d.) resource

	12. 
	If the contribution margin per unit is 6, and the unit price is 10, then the variable cost per unit is:
a.) 16
b.) 0,6

c.) 1,67

d.) 4

	13. 
	If both factories producing the same product, then usually the …. factory has a …. optimal operating rate.

a.) larger, smaller

b.) smaller, smaller

c.) smaller, larger

d.) both, same

	14. 
	Which statement about quality is false?

a) The quality is the totality of characteristics of a product or service.

b) Quality is defined as meeting customers requirements

c) Quality bears ability to satisfy stated or implied customer’s needs
d) Quality must meet only objective needs.

	15. 
	If the capacity cushion is 10%, the capacity used is 10, then the designed capacity is:

a) 9 (90%)

b) 0,1 (10%)

c) 1,1 (110%)

d) We cannot calculate capacity cushion from these data.


Calculation exercises
Exercise 2
What are the optimal production rates (produced quantities) of P1, P2, P3 and P4 products according to the data shown in the matrix below, if we want to maximize the Total Revenue?
	
	P1
	P2
	P3
	P4
	b (hrs/y)

	R1
	3
	0
	0
	0
	1000

	R2
	2
	0
	0
	0
	600

	R3
	0
	2
	2
	0
	3000

	R4
	0
	0
	0
	2
	1000

	MIN (pcs/y)
	40
	10
	50
	50
	

	MAX (pcs/y)
	2000
	3000
	1200
	500
	

	p (HUF/pcs)
	150
	30
	40
	40
	

	cm (HUF/pcs) 
	20
	25
	20
	-20
	


Exercise 3
There is a small company with 3 employees (monthly wage is €1000 each), machines that have a monthly cost of €1500 and overhead costs of €300 per month. This company’s total revenue is €6000. What are the labour, the machine and the multifactor productivities?
Exercise 4

Calculate the following for a year: the Designed Capacity with given work schedule, the Effective Capacity and the realistic quantity of Resource in working minutes we now following data.

Number of working days: 250; there are 2 shifts (8 hours each) in a working day; 3 homogenous machines. In every week (there are 52 weeks), there is a maintenance time of 1 hours (for every machine) and the performance percentage is 90%.

Answer Sheet

Total Points: 30 (15 multiple choice + 15 calculation)

Multiple Choice (maximum points: 15)
Points: …….. / 15
	1
	
	5
	
	9
	
	13
	

	2
	
	6
	
	10
	
	14
	

	3
	
	7
	
	11
	
	15
	

	4
	
	8
	
	12
	


Example 2 (maximum points: 2*3=6)
Points: ……../ 6

	P1 (units/y):
	

	P2 (units/y):
	


	P3 (units/y):
	

	P4 (units/y):
	


Example 3 (maximum points: 3*1.5=4.5)
Points: ……../ 4,5
	Labour productivity:      
	

	Machine productivity:
	

	Multifactor productivity:
	


Example 4 (maximum points: 3*1.5=4.5)
Points: ……../ 4,5
	Designed  Capacity:      
	mins/yr

	Effective Capacity:
	mins/yr

	Resource:
	mins/yr


Answer Sheet
Total Points: 30 (15 multiple choice + 15 calculation)

Multiple Choice (maximum points: 15)
Points: …….. / 15
	1
	B
	5
	A
	9
	B
	13
	B

	2
	B
	6
	D
	10
	A
	14
	D

	3
	D
	7
	B
	11
	C
	15
	B

	4
	C
	8
	A
	12
	D


Example 2 (maximum points: 2*3=6)
Points: ……../ 6

	P1 (units/y):
	300

	P2 (units/y):
	300


	P3 (units/y):
	1200

	P4 (units/y):
	500


Example 3 (maximum points: 3*1.5=4.5)
Points: ……../ 4,5
	Labour productivity:      
	2

	Machine productivity:
	4

	Multifactor productivity:
	1,25


Example 4 (maximum points: 3*1.5=4.5)
Points: ……../ 4,5
	Designed  Capacity:      
	720000 mins/yr

	Effective Capacity:
	710640 mins/yr

	Resource:
	639576 mins/yr


